6M009 Pupil Tasks Plan cou

Master Nearest to / Furthest from to 10,000,000

Fluency 1 Fluency 2
()}
Circle the numbers that complete each stem sentence. Complete the stem sentences. o
Q
4,800,000 7,100,000 =z
£
S
| | I D R B S
0 10,000,000 7,000,000 8,000,000 o o
O
4,800,000 is further from 0 /10,000,000 than 0 / 10,000,000 7100,000 is away from 7,000,000. 7,100,000 is 2 §
Qa0
away from 8,000,000 25
cC c
7,100,000 is nearer to 7,000,000 / 8,000,000 than 7,000,000 / ;'i
(=]
8,000,000 538
1,700,000 4,400,000 6,900,000 9,700,000 x o
0 10,000,000 9,000,000 10,000,000
1,700,000 / 4,400,000 / 6,900,000 is nearest to 10,000,000 9,700,000 is away from 9,000,000. 9,700,000 is

away from 10,000,000

9,700,000 is further from 9,000,000 / 10,000,000 than
9,000,000 / 10,000,000
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Master Nearest to / Furthest from to 10,000,000

Fluency 3 Fluency 4
()}
Circle the numbers that complete each stem sentence. Complete the stem sentences. o
Q
2,300,000 3,500,000 =z
£
S
o T T T 17T 1T 1T 1T T T 1 BE
2,000,000 3,000,000 3,000,000 4,000,000 -g §.
o Y
2,300,000 is nearer to 2,000,000 / 3,000,000 than 3,500,000 is away from 3,400,000. 3,500,000 is 2 §
Qa0
2,000,000 / 3,000,000 away from 3,900,000 > o
cC c
3,500,000 is nearer to 3,400,000 / 3,900,000 than 3,400,000 / ;'i
(=]
3,900,000 5§38
5,800,000 1,600,000 x o
5,000,000 6,000,000 1,000,000 2,000,000
5,800,000 is further from 5,000,000 / 6,000,000 than 1,600,000is___ away from 1,300,000.1,600,000is __
5,000,000 / 6,000,000 away from 1,800,000

1,600,000 is further from 1,800,000 / 1,300,000 than
1,800,000 / 1,300,000
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6,000,000

4,000,000

Fluency 5
Circle the numbers that complete each stem sentence.

6,400,000

7,000,000

6,400,000 is nearer to 6,900,000 / 6,100,000 than 6,900,000 /
6,100,000

4,700,000

5,000,000

4,700,000 is further from 4,200,000 / 4,900,000 than
4,200,000 / 4,900,000

Fluency 6
Complete the stem sentences.

8,200,000 8,500,000

|
T T T T T 1 T

8,000,000 9,000,000

8,800,000

is nearest to 8,000,000

2,100,000

2,000,000 3,000,000

2,600,000 2,800,000

is furthest from 2,500,000
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Master Nearest to / Furthest from to 10,000,000

Fluency 7

Complete the stem sentences.

6,500,000 9,300,000

0

1,100,000

4,700,000

10,000,000

0

Fluency 8

10,000,000

Circle the number that completes each stem sentence.

600,000

2,400,000

3,900,000

7,200,000

10,000,000

0

10,000,000
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()]
6,500,000 is away from 8,000,000 2
iel
9,300,000 is away from 8,000,000 g
£
6,500,000 / 9,300,000 is nearest to 8,000,000 {é
Q
o
1,100,000 is away from 2,800,000 5
(72
4,700,000 is away from 2,800,000 $
(2]
1,100,000 / 4,700,000 is furthest from 5
(@]
2,800,000 £
3
O
[0}
o

3,900,000 / 7,200,000 is furthest from
5,000,000

600,000 / 2,400,000 is nearest to
1,300,000
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Master Nearest to / Furthest from to 10,000,000

Fluency 9

Write the number that completes each stem sentence.

4,300,000 7,500,000 4,300,000 and ___ are an equal S
distance from 6,000,000 §
plunnuunnununnnnnnnnnnnunnmnnnnmunnumny o
0 10000000 7,500,000 and are an equal £
distance from 5,900,000 § 5
T 8
Fluency 10 Fluency 12 5 9
v Qa
Complete the stem sentences. Write the number that makes each stem sentence correct. $ §
(2]
3,900,000 is away from 4,000,000. 4,200,000 is 1,800,000 and 2,200,000 are an equal distance from g g
. (o))
away from 4,000,000. 3,900,000 / 4,200,000 is nearest to 7.200,000 and 7,800,000 are an equal distance from .§ %
4,000,000 ? =
4,600,000 and 5,200,000 are an equal distance from § g
9,600,000 is away from 9,900,000. 9,600,000 is _
away from 10,000,000. 9,900,000 / 10,000,000 is furthest 5800000 and_____ are an equal distance from 5,000,000
from 9,600,000 8,500,000 and are an equal distance from 7,000,000
5,400,000 and are an equal distance from 4,900,000
Fluency 1

Circle the number that makes each stem sentence correct.
5,400,000 / 5,600,000 / 6,300,000 is nearest to 6,000,000
1,900,000 / 2,000,000 / 2,400,000 is nearest to 2,300,000
9,200,000 / 8,300,000 / 8,600,000 is furthest from 8,800,000
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